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SEQUENCES AND SERIES REVIEW
(WHITE BOARD)

Formulas to remember: Arithmetic series

Arithmetic Sequence
General Term:¢ =a+(n—1)d S, =

n2a+(n-Dd)] S =2[1 +1 ]
> 2
Recursive Formula: t =t  + d ) n>l

(n must be greater than 1)  (n is a natural number)

Geometric Sequence Geometric Series
General Term: t = ar™! S = a(r’ _11)
r

Recursive Formula: t =rt

Pascal's Triangle: Patterns and application of binomial expansion

(a+b)”

1. Determine if the following sequence is arithmetic, geometric
or neither. Determine the general term for the sequence
Write the recursive formula.

) { = a9
a) 29, 21, 13, ... d;'c)ﬂ t _ ﬂ”"‘ ()\(d%\ J
A=al-29 Qfl’c b 6’ ’ém )
i) determine 7 ] WIM ’
{,O_ q+qo¢
=29+4(})
= 34-% =
Y {,- 2>

=~y -
b) 23, -46, 92, . &fmn ¥ 6,:-;‘(;\4 2l

rete gt e = (al

-
-~

i) determine th { _ar
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2. Determine the general term for the arithmetic sequence if...

Vistadd=1 o 3p(N-)(-7)
= 3-int%
b) z, =91 and 1 =57 - In+ 30
€r=aryd 5= ated
°H‘a+t(0( qiaid
Usanla)y | af
a1} o |
TNU=a-¢3 \0(
Me3= q
ISq=q

ty, = 5940-0(-1%)
—(59-1Int1F
=-(In+ [76

3. Determine the general term for the geometric sequence if ...
a) the first term is 144 and the second term 1s 36

OL——: a4 ‘é,;.'-: 3G {‘— ({,{ 6”: |y &

-

, -—

bz, =45 and 4 =360 ‘(

n-1

q.
oz =4 560

- a(a)q"‘f 6’: iy R)

i?r‘_’ o= 3¢

{\:3k
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4. Calculate the sum of the first 10 terms in each series.

2)-103-110-117-..  §p= %[;a{'(n'()dj

0(__: :.:;[0 -(-t03) .5;0 - Léo[;(—[ﬁ)‘} Qé}ﬂ

.. Q.Sel =~/3‘{5_
b) 8 -24 + 72 -
- —-a(
:Q?L‘ A= 3 S/) )
>3 =)
o - 3((3 |

5. Determine the sum of the first 7 terms of the geometric series
if ...

a) the third term is 18 and the terms increase by a factor of 3

£~l3F3n4 )
=% 53(5(

0\(3) =R 3
a-s _ ?,(—3&—()

)tszsandt8:—40 :Q‘)é
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6. Determine the sum of the first 7 terms of the arithemetic series
if ...

) ¢ =31 and t,, =109

b)t7:43 and 7. =109 %[é ‘\'{}

ALh=4  a4rd=(09
acko s E[m)

7. Determine the number of terms in the sequence

-63,-57, -51, - ... +63 {'ﬂ = aJ—/YH)O(

A=-v2-
— E 43 = 63 +(h-0C)
&L/_.—G} (2 = -6% ‘FGV\"L
= 6”
3 as\W

n:?a k



7.R Review (Fall 2015)-f15.notebook January 07, 2016

8. Determine the sum of the geometric series.

17 -51 + 153 - ... -334 611

9. At a fish hatchery, fish hatch at different times even thoughthe
eggs were all fertilized at the same time. The number of fish that
hatched on each of the first four days after fertilization was 2, 10,
50, and 250, respectively. If the pattern continues, calculate the
total number of fish hatched during the first 10 days.
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10. Use Pascal's triangle to expand (3x - 2y)4.

/ ?K—AUY(
=) e 6o bt 4Gl (Cog)

= Xlxq»aléx3y+alux°b‘° - %X;}} 4 ((93
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